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Note:  Question No.1 is compulsory. Candidates are required to answer any five questions from the  
remaining six questions. 

 
Wherever necessary, suitable assumptions may be made and disclosed by way of a note. 

 
Working notes should form part of the answers. 

 

Question 1 

a. Cash basis of accounting 

 

Cash purchase of article B and cash sale of article A is recognized in period 1 while purchase of article A on 

payment and sale of article B on receipt is recognized in period 2. 

 

Profit and Loss Account 

 

  Rs.   Rs. 

Period 1 To Purchase 2,000 Period 1 By Sale 60,000 

 To Net Profit 58,000   
 
 

Period 2 

 
 

To Purchase 

60,000 
 
 

Period 2 

 
 

By Sale 

60,000 

50,000 2,500 

47,500 By Net Loss 

50,000 50,000 
 

Accrual basis of accounting 

 

Credit  purchase  of  article  A and  cash  purchase  of  article  B and  cash  sale  of  article  A and credit sale of article B 

is recognized in period 1 only. 

 

Profit and Loss Account 

 

  Rs.   Rs. 

Period 1 To Purchase 

To Net Profit 

52,000 

10,500 

Period 1 By Sale 62,500 

62,500 62,500 
 

(c) Consistency: The principle  of  consistency  refers  to  the  practice  of  using  same accounting policies for similar  transactions  
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in  all  accounting  periods.  The consistency improves comparability of financial statements through time. An accounting 

policy can be changed if the change is required 
 

(i) by a statute or 
 

(ii) by an accounting standard or 
 

(iii) For more appropriate presentation of financial statements. 

b.  

 According to AS 4 “Contingencies and Events Occurring after the Balance Sheet Date”, assets and 

liabilities should be adjusted for events occurring after the balance sheet date that provide additional 

evidence to assist the estimation of amounts relating to conditions existing at the balance sheet date.(2 

marks) 
 

In the given case, sale of immovable property was carried out before the closure of the books of 

accounts. This is clearly an event occurring after the balance sheet date but agreement to sell 

was effected on 1st March, 2013 i.e. before the balance sheet date. Registration of the sale deed 

on 15th April, 2013, simply provides additional information relating to the conditions existing at the 

balance sheet date. Therefore, adjustment to assets for sale of land is necessary in the financial 

statements of Pradeep Ltd. for the year ended 31st March, 2013.(3 marks) 

 

c.  

 

AS 12 ‘Accounting for Government Grants’ regards two methods of presentation, of grants related to 

specific fixed assets, in financial statements as acceptable alternatives. Under the first method, the 

grant of ` 5,00,000 can be shown as a deduction from the gross book value of the machinery in 

arriving at its book value. The grant is thus recognised in the profit and loss statement over the useful 

life of a depreciable asset by way of a reduced depreciation charge. .(1 marks) 

 
 

Under the second method, it can be treated as deferred income which should be recognised in the 

profit and loss statement over the useful life of 10 years in the proportions in which depreciation on 

machinery will be charged. The deferred income pending its apportionment to profit and loss account 

should be disclosed in the balance sheet with a suitable description e.g., ‘Deferred government grants' 

to be shown after 'Reserves and Surplus' but before 'Secured Loans'. .(2 marks) 

 

 

The following should also be disclosed: .(2 marks) 

 

 

i. the accounting policy adopted for government grants, including the methods of presentation 

in the financial statements; 
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ii. the nature and extent of government grants recognised in the financial statement of ` 5 

lakhs is required to be credited to the profit and loss statement of the current year. 

 

 

d.  

As per AS 19 ‘leases’, a lease will be classified as finance lease if at the inception of the lease, the 

present value of minimum lease payment• amounts to at least substantially all of the fair value of 

leased asset. In the given case, the implicit rate of interest is given at 15%. The present value of 

minimum lease payments at 15% using PV- Annuity Factor can be computed as: .(3 marks) 

 
 

Annuity Factor (Year 1 to Year 5) 3.36 (approx.) 

Present Value of minimum lease payments `10.08 lakhs (approx.) 

`3 lakhs each year)  

  

 

Thus present value of minimum lease payments is `10.08 lakhs and the fair value of the machine is ` 

30 lakhs. In a finance lease, lease term should be for the major part of the economic life of the asset 

even if title is not transferred. However, in the given case, the effective useful life of the machine is 14 

years while the lease is only for five years. Therefore, lease agreement is an operating lease. Lease 

payments under an operating lease should be recognized as an expense in the statement of profit and 

loss on a straight line basis over the lease term unless another systematic basis is more representative 

of the time pattern of the user’s benefit. .(2 marks) 

 

            

 

Question 2          (7 marks) 

Particulars 

  Cash  Creditors  Capitals  

  

` 

  

`

 

P (`) Q (`) R (`)       

Balance due after loan    16,000 52,000 43,500 32,000 

January          

Balance available 9,000       

Realization  less  expenses  and  cash 10,000       

retained          

Amount available and paid 19,000 (16,000) - - 3,000 

Balance due - - 52,000 43,500 29,000 

February          

Opening Balance 6,000       

Expenses paid and cash carried forward 3,000       

Available for distribution 3,000       

Cash paid to Q and Machinery given to R       - 3,000 9,000 
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Balance due -    52,000 40,500 20,000 

March 

          

          

Opening Balance 2,000          

Amount realized less expenses 87,300          

Amount paid to partners 89,300     41,689 32,767  14,844 

Loss      10,311 7,733  5,156 

Working Note:           

(i)   Highest Relative Capital Basis (4 marks)           

             

        P (`) Q (`) R (`) 

  Scheme of payment for January 2014           

  Balance of Capital Accounts     65,000 50,500  32,000 

  Less: Loans   

(A) 

(13,000) (7,000)  - 

     52,000 43,500  32,000 

  Profit Sharing Ratio     4 3  2 

  Capital / Profit sharing Ratio     13,000 14,500  16,000 

  Capital in profit sharing ratio, taking P’s capital as base 52,000 39,000  26,000 

  

Excess of R’s capital and Q’s Capital (A – B) (i) 

 (B)    

4,500 

 

6,000          

  Profit Sharing Ratio        3  2 

  Capital / Profit sharing Ratio        1,500  3,000 

  Capital in profit sharing ratio, taking Q’s capital as base (ii)    4,500  3,000 

  Excess of R’s Capital over Q’s capital (i – ii)         3,000 

(ii)   Scheme of distribution of available cash for March: (5 marks)       

             

        P (`)  Q (`)  R (`) 

  Balance of Capital Accounts end of February (A)  52,000  40,500  20,000 

  Profit Sharing Ratio     4  3  2 

  Capital / Profit sharing Ratio     13,000  13,500  10,000 

  Capital in profit sharing ratio, taking R’s capital as  40,000  30,000  20,000 

  base  (B) (i)        

  Excess of P’s Capital and Q’s Capital (A – B) (i)  12,000  10,500   

  Profit Sharing Ratio     4  3   

  Capital / Profit sharing Ratio     3,000  3,500   

  Capital in profit sharing ratio taking P’s capital as base (ii)  12,000  9,000   

  Excess of Q’s Capital over P’s Capital (i – ii)    -  1,500   

  Payment ` 1500 (C)        (1,500)   

  Balance of Excess Capital     12,000  9,000   

  (i –C)           
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                 Question 3 

                                

(a) Form B – RA (Prescribed by IRDA)      

 Revenue Account for the year ended 31st March, 2017  

  
(Marine Insurance Business) (3 

marks)      
         

   Schedule    Current Previous 

       Year Year 

    ` `

 
Premiums earned 

(net)  1 24,33,050  

 
Profit/(Loss) on sale/redemption of 

investments  -  

 
Others (to be 

specified)   -  

 
Interest,  Dividends  and  Rent  –  Gross  (Net  

+  1,34,000  

 TDS) (1,10,000 +24,000)       

 Total (A)    25,67,050  

 Claims incurred (net)  2 17,91,000  

 Commission  3 1,36,000  

 Operating   expenses related   to   Insurance 4 3,22,000  

 business        

 Total (B)    22,49,000  

 Operating   Profit   from   Marine   Insurance  3,18,050  

 business (A-B)        

Schedules forming part of Revenue Account (2 marks)             
                

          Current Previous

            Year Year

      ` `

 Schedule –1             

 Premium earned (net) (22,60,000 +3,47,000)             
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 Total Premiums earned   26,07,000  

 Less: Premium on reinsurance ceded   (2,68,000)  

 Total Premium earned (net)    23,39,000  

 Change in provision for unexpired risk (Required provision –            
 existing reserve)             

 [(` 23,39,000   +5%   of   23,39,000   i.e.   24,55,950) –      94,050  
       

 ` 25,50,000)]              

 Net Premium earned   24,33,050  

 Schedule – 2             

 Claims incurred (net)   17,91,000  

 Schedule – 3             

 Commission paid             

 Direct   1,40,000  

 Add: Re-insurance accepted   12,000  

 Less: reinsurance ceded   (16,000)  
             

      1,36,000  

 Schedule – 4             

 Operating expenses related to insurance business             

 Employees’ remuneration and welfare benefits   2,50,000  

 Rent, Rates and Taxes   15,000  

 Printing and Stationery   22,000  

 Legal and Professional charges   35,000  
           

      3,22,000  
                

Working Notes: (5 marks)             
        

 1. Total Premium Income    Direct Re-insurance 

      `   ` 

  Received  22,00,000   3,40,000 

           

     23,80,000  3,68,000 

   Less: Receivable on 1st April, 2016  (1,20,000)   (21,000) 

     22,60,000  3,47,000 
              

 Total premium income 22,60,000 + 3,47,000 = 26,07,000          
           

  2.Premium Expense on reinsurance     ` 

   Premium Paid during the year     2,50,000 

   Add: Payable on 31st March, 2017     40,000 
             

         2,90,000 

   Less: Payable on 1st April, 2016      (22,000) 

         2,68,000 
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3. Claims Paid 
 

 Direct Business 16,50,000

 Re-insurance 1,25,000

 Legal Expenses  15,000

  17,90,000

 Less: Re-insurance claims received (1,05,000)

  16,85,000

4. Claims outstanding as on 31st March, 2017       

 Direct 1,90,000

 Re-insurance 24,000
       

  2,14,000

 Less: Recoverable from Re-insurers on 31stMarch, 2017  (10,000)

  2,04,000

5. Claims outstanding as on 1st April, 2016       

 Direct 98,000

 Re-insurance  12,000

  1,10,000

 Less: Recoverable from Re-insurers on 1st April, 2016  (12,000)

  98,000

 

 

 

(b) The amount of rebate on bills discounted as on 31 st March, 2017 the period which has not 

been expired upto that day will be calculated as follows: (2 marks) 
 

Discount on ` 2,90,000 for 62 days @ 10% 4,926 

Discount on ` 8,75,000 for 69 days @ 10% 16,541 

Discount on ` 5,65,000 for 82 days @ 10%  

12,69

3  

Discount on ` 8,12,000 for 92 days @ 10%  
20,46

7  

Discount on ` 6,50,000 for 96 days @ 10%  

17,09

6  

Total  

71,72

3  
     

 
Note: The due date of the bills discounted is included in the number of days above. 

 
The amount of discount to be credited to the profit and loss account will be: (1 marks) 

 

      ` 

 Transfer from rebate on bills discounted as on 1.4. 2016     78,566 

 Add: Discount received during the year     1,60,572 
         

      2,39,138 

 Less: Rebate on bills discounted as on 31.03. 2017 (as above)    (71,723) 

      1,67,415 
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Journal Entries (3 marks)        
       

    ` ` 

 Rebate on bills discounted A/c Dr.  78,566    

 To Discount on bills A/c     78,566 

 (Transfer of opening unexpired discount on 31.03. 2016)        
        

 Discount on bills A/c Dr.  71,723    

 To Rebate on bills discounted     71,723 

 (Unexpired discount on 31.03. 2017 taken into account)        
        

 Discount on Bills A/c Dr.  1,67,415    

 To P & L A/c     1,67,415 

 (Discount earned in the year, transferred to P&L A/c)        
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Question 4 

a.  

             

  

2 marks 

3 marks 

3 marks 



 

 

 

 

10 | P a g e  

 

 

 

 

b.  

4 marks 
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4 marks 
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Question 5 

a.  

 

 

 

 

10 marks 
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3 marks 

3 marks 
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Question 6 

a.       (8 marks) 
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b.     

  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6 marks 

2 marks 



 

 

 

 

17 | P a g e  

 

 

 

 

Question 7   

 

a.     

  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 marks 

2 marks 
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b.     

   
 

  
 

2 marks 

2 marks 

4 marks 

c.  
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e.  

 

 *************** 

 

 

4 marks 

4 marks 


